576

c=0:3%54 5 4= 0-0958;'C =15:67; @ —4-60;
Alkohol wie bei Nr. 1.

A

. Kailan,

Nr. 4.

w,, = 0-040.
z a—x fe

0-3 4-56 —
370 3°79 0-0229
820 2-98 0-0231
18-85 1-97 00218
2905 1-30 0-0215
25°62 1-27 0-0218
4605 0453 00204
4610 0-49 0-0211

¢—0:1620:; 4 = 0:0968; C =780
Alkohol wie bei Nr. 1.

o) -

)

25°
00
50-
67 -
67

Mittelwerte. .. 0:0217;
k ber. =0402156;

% =0-87; v=0-074.

Nr. b.

Wy, = 0°041.
a—x k
4-55 —
3°62 0.01243
2-60 0:01198
2-28 0-01181
15-26 0-01110
127 0-01102
0-89 001053
0-86 0-01074

Mittelwerte. .. 0 01121

kber. = 0-01130;

£, = —0:80; v = 0-068.

kle
0-0703
0-0708
0-0870
0-0661
0-0671
0-0627
0-0649

00668

a=4"61;

kye
0-0768
0:0740
0-0730
0-0685
0-0681
0:0650
00663

0-0692




